



District:

Vendor Ranking

Page 1 of 1

Letting: 05230906

September 06, 2023 2:00

Call Order: 003

Contract: E57C6-R0

PM

District 5

Counties: ORANGE

Fed Aid No: N/A

Project(s): 42563617205 (*)

Contract Time: 365 CALENDAR DAYS

Contract Desc: AESTHETICS MAINTENANCE

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Winning bid	\$1,294,710.00	100.00%
2	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$1,297,420.00	100.21%
3	USA SERVICES OF FLORIDA, LLC	Responsive	Non-Winning Bid	\$1,640,325.00	126.69%
4	FL TPC CORPORATION	Responsive	Non-Winning Bid	\$2,231,790.00	172.38%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 6

Letting: 05230906 September 06, 2023 **Call Order:** 003 **Contract:** E57C6-R0

District: District 5 Counties: ORANGE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 42563617205 (*)

Contract Descr: AESTHETICS MAINTENANCE

FDOT District 5
Proposal ID: E57C6

Project No. 425636-1-72-05

Fiscal Year: 2024

County: Orange

Contract Calendar Days: 365

Contract Term begins on the effective date of the Notice to Proceed. This Contract includes an option for renewal(s).

This is a Maintenance Work Document driven Contract. Award will be made at the budget estimate amount of \$900,000.00.

INTENT AND SCOPE:

The work under this Contract consists of mowing, slope mowing, weed control, litter removal, sweeping, edging, landscape area maintenance, tree trimming and pruning and herbicide application on Department maintained State Roads in Orange County on an as-needed basis.

WORK DOCUMENT CONTRACT:

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department estimated quantities and the Contractor bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder, however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Altern Item Description	ate Quantity Units	(1) SUPERIOR L & LAW		(2) T & M LA SERVIO		` '	ERVICES OF DA, LLC
() indicates item is bid as Lump Su	ım	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(LARGE MACH	IINE MOWING (AC	;				
0005 E107 1 1 LITTER REMOVAL	9,181.000 AC	29.00000	266,249.00	20.00000	183,620.00	40.00000	367,240.00
0010 E107 2 1 MOWING (LARGE MACHINE)	3,569.000 AC	33.00000	117,777.00	40.00000	142,760.00	60.00000	214,140.00



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting: 05230906 September 06, 2023 Call Order: 003 Contract: E	E57C6-R0
---	----------

Lettin	ig: 0	5230906	September 06,	2023 Ca	II Order: 003		Contract:	E57C6-R0	
	e No / Item ID	Alternate	Quantity Units	(1) SUPERIOR I & LAV		(2) T & M LA SERVIO			RVICES OF DA, LLC
	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(LARGE MACH	IINE MOWING (AC					
0015 MOWIN	E107 2 2 NG (SLOPE)		640.000 AC	188.00000	120,320.00	200.00000	128,000.00	240.00000	153,600.00
0020 MOWIN	E107 2 4 NG (SMALL MA	ACHINE)	1,542.000 AC	88.00000	135,696.00	150.00000	231,300.00	125.00000	192,750.00
0025 WEED	E107 2 5 CONTROL, MA	ANUAL	36.000 AC	675.00000	24,300.00	200.00000	7,200.00	250.00000	9,000.00
0030 SWEEF	E110 31 PING (MECHA	NICAL)	3,950.000 PM	100.00000	395,000.00	80.0000	316,000.00	82.00000	323,900.00
0035 EDGIN	E110 32 2 G		1,537.000 MI	88.00000	135,256.00	100.00000	153,700.00	75.00000	115,275.00
	E580 3 1 SCAPE MAINTE VAL, MANUAL	ENANCE (WEE	29,520.000 D SF	0.60000	17,712.00	2.00000	59,040.00	1.00000	29,520.00
0045 TREE 1	E580332 97 FRIMMING		50.000 EA	444.00000	22,200.00	200.00000	10,000.00	2,500.00000	125,000.00
0050 PRUNII SHRUE		MING (TREES	100.000 AND SF	98.00000	9,800.00	70.00000	7,000.00	100.00000	10,000.00
0055 HERBI	E580337 2 CIDE (STRIP A	APPLICATION)	228.000 AC	150.00000	34,200.00	100.00000	22,800.00	175.00000	39,900.00



Page 3 of 6

Florida Department of Transportation



Tabulation of Bids

Letting:	05230906	September 06,	2023 Ca	II Order: 003		Contract:	E57C6-R0	
	o / Item ID Alterna escription	te Quantity Units	(1) SUPERIOR I & LAV		(2) T & M LA SERVIO		• •	ERVICES OF DA, LLC
() indicat	tes item is bid as Lump Sun	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	SECTION: 0001	(LARGE MACH	IINE MOWING (A	C				
	580337 3 E (SPOT APPLICATION	60,000.000 < 100 SF	0.27000	16,200.00	0.60000	36,000.00	1.00000	60,000.00
0	001 LARGE MACHINE MOWING (AC)	Section Totals:		\$1,294,710.00		\$1,297,420.00		\$1,640,325.00
	Contract (Grand Totals:		\$1,294,710.00		\$1,297,420.00		1,640,325.00



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

Lettin	g : 052309	September 06,	2023 Ca l	II Order: 003		Contract:	E57C6-R0	
	No / Item ID	Alternate Quantity Units	(4) FL TPC CC	RPORATION				
	dicates item is bid as Lu		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(LARGE MACH	IINE MOWING (AC					
0005 LITTER	E107 1 1 REMOVAL	9,181.000 AC	45.00000	413,145.00				
0010 MOWIN	E107 2 1 G (LARGE MACHINI	3,569.000 E) AC	105.00000	374,745.00				
0015 MOWIN	E107 2 2 IG (SLOPE)	640.000 AC	225.00000	144,000.00				
0020 MOWIN	E107 2 4 IG (SMALL MACHINE	1,542.000 ≣) AC	105.00000	161,910.00				
0025 WEED (E107 2 5 CONTROL, MANUAL	36.000 AC	1,250.00000	45,000.00				
0030 SWEEF	E110 31 PING (MECHANICAL)	3,950.000) PM	97.50000	385,125.00				
0035 EDGINO	E110 32 2 G	1,537.000 MI	225.00000	345,825.00				
	E580 3 1 CAPE MAINTENANC 'AL, MANUAL)	29,520.000 CE (WEED SF	5.00000	147,600.00				
0045 TREE T	E580332 97 RIMMING	50.000 EA	600.00000	30,000.00				





Tabulation of Bids

Page 5 of 6

Letting:	05230906	September 06,	2023 Cal	Order: 003		Contract:	E57C6-R0	
Line No / I		e Quantity Units	(4) FL TPC CO	RPORATION				
() indicates	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(LARGE MACH	INE MOWING (AC	;				
	0336 5 D TRIMMING (TREES	100.000 AND SF	150.00000	15,000.00				
	0337 2 STRIP APPLICATION)	228.000 AC	480.00000	109,440.00				
	0337 3 SPOT APPLICATION	60,000.000 < 100 SF	1.00000	60,000.00				
000	1 LARGE MACHINE S MOWING (AC)	Section Totals:		\$2,231,790.00				
	Contract G	rand Totals:		\$2,231,790.00				



09/14/2023

Tabulation of Bids

Page 6 of 6

Letting: 05230906 September 06, 2023 **Call Order:** 003 **Contract:** E57C6-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.